"

' A.-;:-an Aus and Boro are related with which

crop?

2. padma Bhushan awardee Abhijit Sen was
related to which of the fnllnwfng professions?

(A) Literature (B) Medical Science
(C) Astronomy (D) Economics

3. Which one of the following areas in India,
hotspot of biodiversity?
(A) Eastern Ghats
(C) Western Ghats

is a

{B:'_ Gangetic Plains

(D) Eastern Coast

8. Which of the following crop, is not grown in the
Zaid cropping season in Rajasthan?

(A) Soybean (B) Cucumber

(C) watermelon (D) Muskmelon

- As per Indian Meteorological Department, a
severe drought occurs when the deficiency of

rainfall exceeds.................of the normal rainfall.
(A) 25% ' (B) 20%
(C) 40% (D) 50%

8. Pradhan Mantri Ujjwala Yojana was launched
from-
(A) Jhalawar (B) Ballia (Uttar E

(Rajasthan) Pradesh)

(C) Patna (Bihar) (D) Surat (Gujarat)

1. Which

country will host the
Commonwealth Games?

(A) Victoria, Australia (B) Paris, France

(C) Sao Paulg, (D) New Delhi, India
Brazil

2026

% Who was sentto England as the representative

of Marwar in 1887, to attend the Golden
lubilee celebration of Queen Victoria?

™) Vijay Singh (B) Jaswant Singh
Pratap singh

(D) Kalyan Singh
Bre wag

the Seventh Session of ‘Akhi
o of the ‘Akhil
V2 Degh Rajya Lok Parishaq

the held under
(A) :ilal'"“a“‘hin of Jawaharlal Nehry»

i (B) Udaipyr
(C) Jodhpyr

(D) Ajmer

= (C) SirErgR
131D oo \_\
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1. m_-@ﬂmﬂﬂﬂmmﬁ
&

(A) T () v
(©) =ma (D) T, 5
2. ugH quu QAR W GEI a{ﬁ;h;ﬁ
frerfean & & e 99 @ wfaa o
(A) Tfea (B) fuftrear fAg=
(C) @i (D) arefeme -
3. ura § fP=fafaa F ¥ wiar &= ofafafdedr
&1 gfewfe #7
(A) it g1e (B) 7 & #eTH
(C) uf¥erft are (D).udf 7e
I fefafem 4 @ a9 @ v, woem @
VT @ W ¥ gefad a8 @) o 27
(A) Frd= (B) Tdma
(C) TRgst (D) w@xqut
3 AR Aem et @ agER, w9 aiie ant
B A A aet AP Bt 2
T yEvs g B Rl ok 2
(A) 25% (B) 20%
(C) 40% (D) 50%
8. WerTTHE SouEET W BT YARET g —
(A) srremars (RrereRr) (B) aftrar (Sawey)
q
A

(©) v (ER) 9 tﬁ} T (T |

7. IR T 2026 B HwEET PE-H %'ﬂ

H?
(A) i, (B) uRw, wid
(C) et ureal, aTofier (D) wd e, wRa

8. merrl famifar @& wol See Sewa § A

oM % fog 1887 ¥ wRee & whitR & ¥

¥ e grerms o
(A) o e (B) Srwdd i@
(C) wam g (D) e RE

9. wmmﬁmmﬁ'm“ﬁ
<2 o e RN @ wiaar sfde

arafora garm or?
(A) SR (B) Seag¥
(D) 37T




10.

1.

women participated i
Andolan?

(A) Uttama Devi (B) Ram Devi
(©) Kishori Deyi ) Durga Devi Sharma

Jai Singh - | dig not built an observatory at
which of the following place

10

1

R e ¥ G e e A
10,000% aiftw wre Afems 3 anT R

(A) wemy 24 (8) Rt
(©) Ry 2 (0) gt 3 T
© URTE Rt 3 fe ¥ ¥ R oe e

Dars 1 nf 24

57 T Frard?
(A) Agra (B) Mathura (R) sy | (B) woRy
(©) Ujjain (D) Delh; (©) 35 (D) fseiy
12. The number of lif c@nalsin Indira Gandhi canal  12. SIRT Wil e afavor ¥ e e @ we
project is B b4t de e e seaca e 2
(A) 5 (B) 9 {A) s B) 9
(C) g (D) 7 (C) 8 D) 7
13. Barren and Narcondam are - 13, 99 o Aaoen ¥ -
() Types of mountain vegetation in India A T vy gty w7 g
(B) Volcanoes in India : (B) e 4 e ¥ "
(C) Rivers in India (C) 9T 7 =y ' v E
- (D) Agriculture type in India (D) wred 4 TR
13. Which one of the following pair (Governor of  14. et 3% F wrmy U T (TSI o YT
Rajasthan - Former Position) is not correct? — 94 U=) WY 7 &7
- (A) Kalyan Singh —C.M. of U.p. (A) FEm Rig - sowdy @ HEE)
(B) Kalraj Mishra - Governor of Up. (8) et B — SeRmy @ o
“(©) Ram Naik Governor of U_p. | (©) 31 1w — TRy 3 woagr
(B) Madan Lal Khurana ~ C.M, of Delhi ©) FEemrer R — el &
13- Under which Article can the Parliament make 15, %iwge vy T & vy w ey T F
" laws on the subjects of the State list? GET B 41 ey 22
(A) Article - 293, (B) Article - 223 (A) argeedg - 293 (B) Iqeibg - 223
() Article-249 (D) Article - 253 (©) e - 249 (D) arede — 253
18- In Rajasthan “Mukhyamantri Paryatan Udyog 6. romerm & TEE Tded wan waa AT
Samha!?njana*_ﬁas started in the year - 'Eﬁq IEg | ﬁ Te? . :
(M) 2021 . (B) 2000 (A) 2021 (B) 2020
(C) 2018 s (D) 2019 , (€) 2018 (D) 2019
17. RpG. Bh'andaﬂ;a;. and Atmaram Pandurang 7. 9. < HSRER AR R gy
were associated with which of the following Priferies 3 & frg T ¥ wam o
isation?
?;}glrtl:fi:: Sabha (B) Home Rule League (A) s ey (B) Emw&er oy
(C) Prathna Sabha (D) Ramkrishna (C) wrefar (D) e fiyersy
T Gon Mission :
% 1o which sect did SEIIh_Ej_EI Bai belong? 1_3' Eﬁﬂ;ﬁﬁm fib mjm?
\Q famsnehi  (B) Alakhdas (C) wreraT (D) TRvrETRY
() Laldasi (D) Charandasi e
131 38



19. Who was the first Law Minister of Independent
India?

(A) J.L. Nehra (B) br. B.R. Ambedkar
(C) vallabh Bhai Patel (D) Maulana Azad

20. Who among the following was the first woman
Rajya Sabha member from Rajasthan?

(A) Gayatri Devi (B) Sharda Bhargava
(C) sonal Mansingh (D) Priyanka

Chaturvedi

21. Match List-l with List-1l and select the correct

23.

answer using the code given below the Jists -

List -1 List - [1
(Power plant) (State)
(a) Satpura (1) Maharashtra
(b) Dhuvaran (2) Uttarakhand
(c) Tanakpur (3) Gujarat
(d) Dabhol (4) Madhya Pradesh
Code -

(A) a-1, b-2, c-3, d-4

(B) a-4, b-2, -3, d-1
(€) a-1, b-3, c-2, d-4

(D) a-4, b-3, c-2, d-1

*" The objective of ‘Antyodaya Yojana’ (1977) in

Rajasthan was -
(A) rehabilitation of beggars

(B) providing crop insurance
(C) development of barren land

(D) providing financial assistance to the .

poorest families

The 'Social forestry’ term was used firstly by
the National Commission on ngnculture, in the

year -
(A) 1976 (B) 1982
(C) 1961 (D) 1978

Where is the tradition of organising the famous
‘Nahar Dance' prevalent, since the time of
Mugh-ai Emperor Shah Jahan?

(A} Chaksu (B) Chomu

{ﬁ] Mandal (B) Kishangarh

25. \\here is the ‘Rupayan Sansthan’ located?

{B) Borunda
(D) Bundi

(A) Badnore
(C) Bagru

19. Wiy v & v BR A @ o
(A) Siva. Yz (B) . MR, ez
(©) aewm wé e (D) e s

20 5771 # X P o ) wer e S
ew off?
(A) T 2 (B) e rfg
©) W weRiE  (0) B aqEd

21. qi?l—la# G-Il 9 @iforg aiR
A Ry Ty ﬁﬁ?mmﬁna‘m GE Hﬁ@agz

—

-1 -
(faegeT wief) (eron).
(a) wegsr (1) Rt
Ebl ;:f!m;ﬂ? (2) TS
c) (3) o
(d) g (4) E;ﬂm?%w
EE ==

(A) a-1,b-2,¢-3,d-4 - (B) a-4,b-2, c-3, d-1
(€) a-1,b3,c2,d-4 (D) a-4, b3, c-2, d-1
22, oI A Caiigy AT (1977) 91 St

o7 -

(A) et @1 qate

(B) HHe €M1 ST ST

(C) FR 9 &1 R

(D) w9 e gRart #f anfife e wwE
23. i Y ST A el Ay ug @)

ITANT wawerm forg 9§ ¥ fhan, 98 § -

(A) 1976 (B) 1982

(C) 1961 (D) 1978

24, e wuTe WESEl @ WAd W 8 g e
T B TN ) R, FEl ghferd 87

(A) =1 (B) =iy
(C) Avsa (D) faerTme

25. uRe W BEl R 87
(A) FER (B) =T
(©) 7T (D) g0

131D 53
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27.

3.

Indira Mahila Shakti

- Udaan Scheme js related

(A) Provide free education to girls

of rural
areas

(B) Free Sanitary Napkin distribution to girls
and women of reproductive age

(C) Provide free Scooty to college girls

(D) Provide free vocational training to women
of rural areas

Where is ‘Tungsten’ produced in Rajasthan?
(A) Degana (B) Debari

(C) Khetri (D) Beawar
Shvampura and Bhat canals are related with -
(A) Mahi River (B) Kota Barrage

(C) Narmada Canal (D) Jaisamand Lake
With which occasion is ‘Mor-Bandhiya’ custom,
related to Garasia tribe, associated?

(A) Marriage - (B) Engagement
(C) Birth (D) Divorce

* Which one of the following (Irrigation Project -

Place (District}) is not correctly matched?

(&) Benthali—Baran  (B) Indira lift -
Ganganagar

(C) Bankali—Jalore (D) Bhimlat — Bundi

e-Mitra at Home (e-Mitra@Home) scheme s

initiated in the urban centers of which of the

following districts? :

(A) Jodhpur and Jaipur (B) Jaipur and Kota

(C) Kota and Jodhpur (D) Jaipur and Ajmer

Which institution hosted the ‘World

Sustainable Development Summit’ in February
(2022)? -

(A) NITI Aayog (B) ISRO

(C) BARC ot (D) The Energy and
Resources Institute
(TERI)

. Which district of Rajasthan receives highest

average annual rainfall?

(A) Jhalawar ., (B) Baran

(C) udaipur (D) sirohi

In which year ‘Rajasthan Seva Sangh’ was
transferred to Ajmer?
(A) 1920

(C) 1919

(B) 1921
(D) 1918

26.

27.

31.

gﬁm A Wfm Wem A W

(A) gmitor & ot el @ ua fen yeT
Cagll

(B) worm airy o wrefl st Afeenal @l
A S Jufd @ e

(C) et o erefal o) o el Wam

(D) 7rftoy i & wfRenal @ qua @EwEaE
TIETOT Ug Hel

XR ¥ ETRET @1 Iede el el 87

(A) Firr (B) ardl

(C) W (D) &R W T

WAL Y A ey Wt § —

(A) wrét =t & (B) wier v 9

(C) wfar e @ (D) S e 9

TR SNy AR et i Rae, e

T § =T AT &7
(A) frae (B) wg
(D) Toms

(C) &=
ffeiem § 4 o R sRewT—em
(Foren)) gafera =t &2 - '
(A) Forchl — A _AB) gfezr forre —

_ TR
(C) Tl — Sk (D) ¥ — 7
A9 T2 ¥4 (e-Mitra@Home) AT %1 =

3 % et vt @ wed At 3 I R T

32

w7

() SR U4 SR (B) SR §E Bren

(C) #ler vd Sy (D) TR T FoPR
g were e Rrew woies wead (2022)
Bl oA faw weens grr @) a2 o

(A) Hify amarr (B) gl

(C) =13 (D) Soif v wHemEE
e (@ dam
g

YRIF P B foren o aiffs i o

AT HaAS W Hear 87 :

(A) SiTeraTs (B) =i

(C) ey (D) R

o i rorRr e W @ @i s

garn? .

(A} 1920 (B) 1921

(C) 1919 (D) 1918 -

oo
131D oo
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1
HI al 33. The ‘Kathodi’ tribe is mainly found in which of 35 g‘“ﬁgf vt ged: e i 5 urdt s
?

the following district?

(A) Banswara (B) Udaipur [ﬁ} araaret | © {B) gEAaR i
(€) Kota (©) Dungarpur (C) wrer # (D) GvgR
3. Who established the Chamunda Mata temple, 36 WexrrTe 3 A Rerd amel A AR
situated at Mehrangarh Fort? g e @ o
(A) Rao Kalyanmal  (B) Durgadas (A) 3@ FeawmEe - (B) gier :
(€) Rao Jodha (D) Maharaj Ajit Singh N (C) 71 v (D) wEmTe i e
37. Whi 0 : '
Which one of the following conservation ﬁ?. Ryfafen § @ S S 69 F e
reserve is not extended | i '
s ended into Jhunjhunu g i e & &
.' (A) Gogelav (B) Shakambhari s ) aneE (B) T
(C) Beed (D) Mansa Mata E () i1 (D) 7141 AT
3. In Mewar state the ‘Mahkama Khas' was ~ 38 ¥a/g o0 § ‘W@l W @ WG B
established by - i —
(A) Maharana . (B) . iz (B I s
Maharana  Ajit ¢ (A 5ErwE I Rig A1(B) wermm
| . Shambhu Singh Singh o A
| (C) Maharana  Sajjan (D) Maharana Ganga R (C) wewon wow fifE(D) wermen W fig A
Singh Singh - A

39. Which one among the following agricultural ~—39- FrFfaREd i BRI HN -8 UG WHR
sectors is covered under the Market g G| 1 =0 1 o | R e o b s G I

Intervention  Scheme (MIS) of Indian &7
Government? :
A (B) FrTar=l

(A) Forestry (B) Horticulture % t Cj Hm { D}'

(C) irrigation ° (D) Animal husbandry E (© R _ ® IR
40. Where is the Indian Institute of Sugarcane ¢ ﬂﬁ'ﬁ'ﬂ T I TR (G

Research situated? g sife g ) wEl Rum #2

(A) Lucknow (B) Varanasi — (A TETs (B) gy

(C) Kanpur (D) New Delhi ﬂ (C) HHYR (o). e

41. sort out the incompatible pair between 41 WRW W WitEER & gwm ¥ ¥ T

Literature and Author - oy Bifer — | .
(A) Raj Prakash - Kishordas x B (W) Towen - e
(B) Raj Vallabh — Maharana Kumbha i Pl'.": (B) Irogeet — TR T
(C) Amarsaar — Pt. Jivadhar O (C) IR — 4. SieaER
(D) Pabu Prakash — Modiji Ashiya :"‘I (D) g, WehTel — Higoh anfemy
42. Which of the following pair (Ancient region - 91 aenfafer § @ B g (O st -

Modern district/districts) is not correctly agfie  Rren/fel) w1 gt
' &7 3

matched? ;
(A) vagad:Sikaf,Jhunjhunu (A) arTe—daR, I

(B) Shivi-Chittorgarh, Udaipur (B) Rifa—ferires, AR
(C) Sapadalaksha-Ajmer, Nagaur (C) FUTETE—3TR. iR
(D) Arbud Desh-Sirohi ' | (D) 35 2T-RRE

———
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43.

Which Constitutional Amendment Act of

e

e : the 4. wRA & WRYM & S AT it
R:_nstu;utiun of India, limits the size of the FfPrm, Ty A GREe @ R
mjast an_Cn!.mnI ui:hMinisters? o it wwar 27 o

Constitution (95" Amendment) Act, 2 (A) wifem (o5ai weher) s, 2009
(B) Cunstitut'tnn (91 Amendment) Act, 2008 (B) ifte (91ai weir) sfifa, 2003
(©) Constitution (75" Amendment) Act, 19 (C) % (75ai @) sffae, 1993
(D) Constitution (89" Amendment) Act, 20 (D) % (goai W) s, 2003

- The live run of RTGS (Real Time Grgsy 4 SRAWITE. (R @ wad ﬁg
Settlement System) was started in - L e yoireh) @1 @igd ¥ (Sfae wErer) 3R
(A) 2006 (B) 2010 : qF -

B) 2010
(©) 2002 (D) N (A) 2006 # ( ;
2_uu4 w . (C) 2002 # (D) 2004

45. ‘Godawadi dialect’ is spoken in which nne(r?f- 45. Prfaf 3 frg v g d el el
the following districts? N qrell o) 87
(A) Jaisalmer (B) Jalore = (A) e (B) el
(€) Dungarpur (D) Ajmer o (C) §RYR (D) B .

46. The world famous Janki Lal Bhand is relatedito 96 IRRTE WX 43 @Aifa 9T Wi TS
which folk play? o1 T frg ore Ay o 87 )
(A) Swang (B) Khavyal ™ (A) =i (B) warei A
(C) Nautanki (D) Rammat % . (C) gt (D) vl '

47. Who among the following, was awarded {E‘s 47. fpm 9, ga ol Fu-TH T
Padma Vibhushan by the Government of India ¥ Sy Wi apfer® @ PR WK B
in 1956, for her active participation in Bhuu{ﬁ _ R
and Kup Daan programmes? o % 1956 %, wgw fuqger ¥ WA far
(A) Janki DeviBajaj  (B) Narayani  DEwi (A) I 34 qoTer (B) Al 34 gt

| Varma
(C) Ratan Shastri (D) Anjana n@ (C) W= WA (B) sforrr &l e
B Choudhary ) '
48. Banka — Patti' of Rajasthan suffers from ﬁ 48. JrorrE @) diT — vl fh e 9 afia
-. o 27

problem of - | <
(A) Drought and (B) Fluoride = (R) ¥ 3R IFT  (B) WERIES @

Famine e il .
(C) Limestone: (D) Air Pollution @ gi-werR @ (D) 97 wgEr @

49. | which district of Rajasthan, Gypsiferous soil 48 TSR & fw ol #, RrhoR mar Presh
is found? ®
(A) Alwar (B) Jodhpur (A) 3rera (B) m
oo @dw O

50. Who built the Rangmahal in Bundi, which is 50 4@ Rum YEe. w1 g PffRE g
adorned with beautiful mural paintings? oo 8, e aeamr -
. A) 318 v g (B) TR Fwfiz
Singh (
(C) Rao Chhatrasal (P} Rao Surjan Singh (C) X/ BTt (D) wm e fife
e
131D 88 Page 7 of 24



Which Constitutional Amendment Act of the
Constitution of India, limits the size of the
Rajasthan Council of Ministers?

(A) Constitution (95 Amendment) Act, 20 %
(B) Constitution (91* Amend ment) Act! 200p—
(C) Constitution (75" Amendment) a!itctIr 199%
(D) Constitution (89 Amendment) Act, 2003+

- 43,

TRE & WU &1 wrerar wRuE weiE
R, IoReE W= oReg @ amer @)
Wffrer @ 27

() Wi (osai weies) afefas, 2009

(B) wifdur1 (91ai wuiwer) afafram, 2003

(C) vifaerst (75ai wieiem) arfefran, 1993

(D) WA (89ai weier) afifrm, 2003

The live run of RTGS (Real Time Grﬁ;'; 44, grédive (Twafas T WEa e
Settlement System) was started in - -~ WUITell) &1 eiigd 34 (Sfia= Werel-) Wy gl
(A) 2006 (B) 2010 . 27 -
(€) 2002 D o (A) 2006 # (B) 2010 %
© ;mq QO - (C) 2002 9 (D) 2004 3
45. ‘Godawadi dialect’ is spoken in which onerc;} 45, fiforfEe O f e o A el delr
the following districts? ' o el T 27
(A} Jaisalmer (B) Jalore % (A} TRTETR (B) ITeiR
(C) Dungarpur (D) Ajmer — (C) §TNgN (D) srariR
46. The world famous Janki Lal Bhand is relate& 46. gRRITT WX U @ W Wi His
which folk play? &1 e &g e e 9 @7
(A) Swang (B) Khayal N (A) i (B) el EE:
{C} Mautanki ln} Ramemat oM ; (C] -"l!EE’ﬁl I:D} TH
47. Who among the following, was awarded {hﬁ a7. f | 59, YT AR GU-TE ErmE
Padma Vibhushan by the Government of Indla : S Nt @ @Y DT
in 1956, for her active participation in Bhuncﬁﬁ A i e
and Kup Daan programmes? P 7 1956 %, ugA favmur & wenfa
A B i ’
(A) Janki Devil Bajaj ( 1_3::::n| DEV] A 8 A ® R
(C) Ratan Shastri (D) Anjana D% (C} a7 el (D) afor= 241 =
; Choudhary ™ . '
48. Banka - Patti of Rajasthan suffers from ﬁ 48. o B 9idl - e faa waen 9 ufiE
problem of = % £7
(A) Drought and (B) Fluoride T (A) 3T 3R awTel (B) waRIgE &)
Famine ﬂ G|
(C) Limestone. (D) Air Pollution " (C) gy Wi (D) 91 weguy Eal
49. In which district of Rajasthan, Gypsiferous soil 48 eI & far forey #, faliies 51 My
is found? B .
(A) Alwar (B) Jodhpur (A) aretay (B) Wi
(C) Bikaner (D) Pali (C) drwrr (D) yreit
50. Who built the Rangmahal in Bundi, which is 50 &7 fym Tmea, o g el 2
adorned with beautiful mural paintings?
e R 5
(A) Rao Ratan'Singh  (B) Maharao Buddha e e
singh (A) 3@ vore Rz (B) TeRTa qufiy
(C) Rao Chhatrasal (D) Rao Surjan Singh (C) v v=A (D) g o e
131D 68 Page 7 of 24 =
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22

o4.

56.

1. Prithviraj’s “12 Khambo Ki Chatri” is situated in
which of the following forts?

(A) Kumbhalgarh Fort (B) Mehrangarh Fort

(C) Chittorgarh Fort (D) Gogunda Fort

classical players of Rajasthan origin
Ram Narayan and Sultan Khan are related tg
which musical instrument? |

(A) Sarangi
(C) Tabla

Famous

(B) Kamaycha
(D) sitar

The shortest (in length) National Highway in
India is -

(A) NH 966 B
(C) NH 44

(B) NH 127 A

(D) NH 548

In India, agriculture income is calculated by -

(A) Input method (B) Output method

() Commodity Flow (D) Expenditure
method method

Which one of the following point is not

included in the Twenty Point Programme 2006

in Rajasthan?

(A) Support to farmers (B) Labour welfare

(C) Urban roads (D) Poverty

eradication

Which pair is correctly matched about the
Deputy Chief Ministers of Rajasthan?

(A) Shiv Charan Mathur, Tikaram Paliwal

(B) Ghanshyam Tiwari, Sachin Pilot .
(C) Hiralal Devpura, Sachin Pilot a
(D) Kamila Beniwal, Sachin Pilot

57. East — West mfridnr does not passes tHrough

S1. gedirr @ 12 Tl B Al Pefalan §
W fo faret ¥ o 27

(A Twerg e (B) Hewg fareT
©) Rrlrgng frar (D) T e
NIVTRITT ¥ & Jer YA d1eds PFRTE0]
W YR @i @ s 5y @ 7 9

52,

&7
(A) srefy (B) wwraran
(C) e (D) R

sﬂ-?aﬁwmamﬁ)w@aw

(A) NH 966 B (B) NH 127 A
(C) NH 44 (D) NH 548
4. uRT #, Pt ama & o < o & -
(A) 3mre fafey (B) ffer fafey
(C) a%g vare (D) =g fafr
fafer
55. rererr ¥ € v ey 2006 Prafifea
i B fimg wfafera & &2

(A) famt @ wearr (B) #fT Fom
(C) sz wed (D) TRt Ber

56. Yo % SUREMEET B N A B9 € A€l
e &7
(A) Rrreror AR, <IHRM refared
(B) weream ferard), wfaw rgee
(C) ERTaTer Jagw, Wiew TRIee
(D) Fwen A-TaTe, Wi e
57. 4 — feew feraRT ST @ P

which of the following district of Rajasthan? ¥ fora forel | 181 Tome 27
(A) Baran (B) Kota (A) T (B) BTeT
(C) Jhalawar (B) Bundi (C) srreaTS R OEci |
58. At present, the Chairperson of Rajasthan 58. A ﬁ;_mﬁ frerreT 1 Afgen U4 arel
Legislative Assembly’s Committee on Welfare Ty Hae ﬂﬁrﬁil 3| ez -
of Women and Children, is - (A) yregiet ¥Tad (B) wy, G|
(A) Shakuntala Rawat (B) Manju Devi (©) vt W% (0) 3T e
(C) shafia Zubair (D) Anita Bhadel
1310 89 Page 8 of 24



59,

oy 5 s st s gt 50 1 e 0

Finance Commission of Ha?astt:znﬁ f i FA e ‘ agmwﬁrﬂ‘:‘

2021-27 - ait #Y R @7 firetrr o -

(1) Zila Parishad (1) 5% (1) ferem uRug (1) 5%

(2) Panchayat Samiti () 20% (2) varga afify (11) 20%

(3) Gram Panchayat (1) 759% (3) T Yam (1) 75%

Choose the correct option — ael Rgey g4 —

::: ::;::'{f]j;l {33}-" t:J (1M1, (2)-111, (3)- (A) (111}, (2)-1, (3)-11 (B (1)1, (2)-1, (3)-

ok A2)-, {_ ML (D) (1), (2)-1, (3)-10 (C) (2)-41, (2)-1, (3)-0 (D) (2)-1, (2)-1, (3)-11
e following statements - 60. Fr=faifad st @ ufdy —

(i) E: ZEEEHT: :: t:zﬂﬂfgtht to Information () 71 % R sftfm, 2005 & Siw

accountabilty in the admiret o T IR i e Savaie o &
Y in the administration. . . S

(ii) Aruna Roy led the movement, which paved I 3 Y Gl
the way for the enactment of Right to w‘ T @ ofer it @
Information Act. ' AR &9 @1 aef wera fsan

Choose the correct code - wEl e g -

(A) Neither (i) nor (ii) is true (A) =5 1 (i) =1 & (i) 9 2

(B) Both the statements are true (B) &)Y o, ud & E

(C) Only (i} is true (C} et (i) wel & -

(D) Only {ii) is true (D) Taer (i) wer &

61. What is the maximum amount of fine, that 1. roRe Wy R[EFT SITART, e A 4 W
Rajasthan State Information Commission can afrda Rt o &1 ST AR @)
impose for not providing information? Hel 87
(A) T 15000 . (B) T 30000 (A) 150002 (B) 30000%

(C) T 25000 (D) ¥ 20000 (C) 25000F (D) 20000%

82. The Janakpura and Kushalpura mines of Tonk 62 2w R 7% SEPYRI AR IR G o
district are known for the production of - G & TR 8 W W R, 7w # -
(A) Feldspar = (B) Uranium (A) Howyr (B) Z3fyam '
(C) Garmet (D) Wollastonite (C) e (D) gremreTse

63. Which country’s Prime Minister visited 63 g7a & % fyoraw 2022 9), frg 29 eI
Rajasthan recently, in September 20227 A YT T SN faare
(A) Nepal (B) Bangladesh (A) =urer (B) FiTciQw
(C) Bhutan (D) South Korea (C) s (D) =fdyor w1Rar

64. In which school of painting of Rajasthan  64. ImrRers @ farw fis e & AR} &) R
women are portrayed as hunters? bR g T war @

(A) Alwar . (B) Jaipur (A) e (B) SR

() Bikaner . (D) Kota (©) drarR () et ~
65. ‘Mewar Ki Pukar’ 21 points demand letter was o3 ;f:g‘ :_’T? IR 21 3 A & ey

ted to - s
::;aw;av Singh Pathik (B) Moti Lal Tejawat (A) faurg e afRrs  (B), #irfieimet S
(C) Manikya Lal Verma (D) sadhu Sitaram Das (C) wiftrrr @rer (D) T TR i
o ——
Page 9 of 24
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66. Indian Green Revolution was started from 6. wRef aRe wifyy &1 T o Reafieme
which University? | W EE o
(A) Pantnagar (B) Delhi University (A) 9 favafiena (B) fRwh Rl
University | ¥ J '
(C) Kanpur University (D) Hyderabad - (C) Eﬁg'\f favafiemera (D) LA
University - favafeemem 9
§7- Which Indian player won the silver medal in 7. ?n‘ﬁ‘i‘l?‘r‘f’rtl Reerel 3 i 3l defie2022
German Open Badminton 2022 tournament? wfRRFraT % Yor e e fear?
(A) Lakshya Sen (B) Saina Nehwal (A) Fe ¥+ (B) wrg= “eara
(C) Srikanth Kidambi (D) P.V. Sindhu (©) sir fesdt (0) qidt. Rig
88. The historical place ‘Jabalipur’ is identified in 68 YfETRE o TR B E veE
modern times as - - :
(A) Jalore (B) Jaisalmer (R) TR (B) TrrerR
(C) Sirohi (D) Nagaur (C) e (D) s
8. Which is the leading producing state of 9. Yq %1 FIRF T ToT T 87
Rubber? _ i (A) Fifes (B) o
(A) Karnataka (B) Kerala - e R is
(C) Tamil Nadu (D) Telangana & 1% geesp
70. Which is not correct? - 0. B W s 87
(A) Dry Agriculture is practiced in Western A g A Rl wE A yaRE
Rajasthan. 2l
(B) Humid Agriculture is practised in South - (B) Roer= # ang @l aﬁm—qﬁ‘i qrT § #
Eastern Rajasthan. Tl 2 |
(C) Jhuming agriculture in Rajasthan is called (C) Iomemr A T wdt @ dew FEd
- Walara, |
(D) Rajasthan is divided into 14 agm-dimati: (D) ?IEI?EIFI @ 14 ?pﬁ Serar] weu § gier
zones. TR
71. According to Census 2011, what was the Child ~ 71- SFPvmMT 2011 @& mﬁ'ﬂﬂ Yo H R
Sex Ratio in Rajasthan? ferrome foamm ar?
(A) 888 (B) 788 (A) 888 (B) 788
(C) 887 (D) 878 (C) 887 (D) 878
72. Who is the Chairman of the State Tourism 72 IWRUM # o0 Yo, WeledN Hﬁfﬁ C
Advisory Committee in Rajasthan? eI B B? -
(A) Tourism Minister (B) Commissioner, (A) wiies = _,';5} ST, qﬂﬁ
Tourism o™ FRETT
Department :
(C) Chief Minister , (P) Governor i m iy’
T3. shrilal Joshi was associated with - 73. siere Wil o1 weE o — r
(A) Thewa Art (B) Phad Painting (A) 2 e 9 (B) % forw 3
(€) Sculpture (D) Terracotta | (C) #fet e W (D) 71 WL

131D o8
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T4.

Which of the following citjes of

. India is 74 Fr=fafe 4 ) wwg @ e wesl @ 2021
recognised as “2021 T -
gt ree Cities of the Eﬁ%’?ﬁﬁ P 7 ged” @ wu ¥ WA 4 T8
(A) Mumbai and Hyderabad - 5
A2
(B) Hyderabad and Udaipur :H;a;iiaﬁ? i .
(C) Pune and Bengaluru (©) o 3k e E
() Thiruvananthapuram ang Bengalury (0) Rreasiegen iR S
75. Which Constitutional Amendment is relatedto 75 @ w1 widufiG T € Seey Q. ARET 9
EWS reservation? e 27 e
:2 We (B) 103 ® 102 (B) 103
s 1’-:"1 (D) 104 (€) 101 (D) 104
™ Who is the famous author of ‘Bhartiya Prachin =~ 76. R wrdm fafwer @ R oa
Lipimala’? q =
(A) G.auﬁshankar (B) Ramkaran Asopa (A) TréiviaR ¥R (B) ywaT amar
Hirachand Ojha afren it
(©) MuniJinVilay (D) Bishweshwar Nath © 9 i e (D) Rvdvarany
Reu LT
7 Which of the following river flows in Rift 77 forifemen & @ iRl a1 Ree o1ét 4w
Valley? 27
(A) Godavari (B) Satlyj (A) Mgad (B) sige
(C) Narmada (D) Ganga (€} 7¥7aT (D) 77T
. Maize is the staple food of which tribe of 78 wawr YWl @1 fbg Y &1 &=
Rajasthan? ¥ _
(A) Sansi (B) Bhil () i (B) e
(C) Meena (D) Sahariya {C) Hrm (D) wefan
. For the promotion of Arts, in 1857 AD, 79 wamil & e & forg, 1857€. ¥, ‘wewmwn
‘Maharaja School of Arts and Crafts’ was ol T ACH YIS HUCH B YA )
established by - ot — '
(A) Sawai Madho Singh (B) Sawai Ram Singh Il (A) warg == R 1(B) ward ww R 1
| . i
(C) Sawai Pratap Singh (P) Sawai Jai Singh (C) warg vy Rz 3 (D) ward =g Rfg %
80. which among the following is/are the Nodal 80. feifefrd # ai!q i A < T
Agency for implementing the Monetary Policy? ?5' o Aew ol /82
(i) State Bank of India t'? R ¥ee i
(i) Union Bank {If} ! : aiﬁ
(iii) Reserve Bank of India 4 (i) R 4
(A) Only (i) (B) (i), (if) & (i) (A) Faa (i) (B) (i), (i) = (i)
: i D
() only i) (0) only (i) tcma%a?r (iif) (D) Fa= (i)
e f24 -
BID Eg Page 110




m bl B1|
81. Which is the first irrigation project in India, in

which sprinkler irrigation system ha‘slbeen
made mandatory?
(A) Narmada Canal Project
(B) Mahi Bajaj Sagar Project
(C) Indira Gandhi Canal Project
(D) ﬁ%mbal Canal Project

B2. Whith-of the following facts are true about the 82
Aravalli Mountain range?
(i) lewas formed in Cambrian age.
(i) E is considered residual mountain at
peesent.
(iii) It is mainly made of Igneous rocks,
(iv) It extends from south — west to north - east
ection.
Codes
’ (A) pandiv (B) 4, i, iii and iv
(C) dnd iv (D) i and i
Malﬁ Liagat Ali, who played a significant role 83.
durifigthe Freedom struggle of 1857, belonged
to which of the following cities?

(A) Bareilly (B) Allahabad

(C) %abad (D) Lucknow
i 84. th‘:@ the present Lokayukta of Rajasthan? 84.
(A) %tap Krishna  (B) G.K. Vyas
tThra

(€) &?}Eai Chand Goel (D) G.S. Sandhu
85. Match List-l with List-1l and select the correct 85

e ¥, @ D vem Rierd aRae R
fogE Riod /warr Rl o sfan
feam war &7

(A) =1 v yRaE

(B) wigl Twet W uRa

(C) gfewr et =Tex uRaremn

(D) T=d Tex g

TRl e & e Pt o @

FY T Wl 7

Ji) T fmior S g F gam o

(ii) T A UE ERIE Uda B By # #

(iil) 7E e sy Tl | Pl g

Jv) T8 2o — ofem d SR - qf R
forega R |

a-,“?-.

(A) ii iR v (B) i, i, iii &R iv

(C) jii 3w iv (D) i afii

Aol ferarea arch,. fe 1857 & v
WM & WRA Wl e

FfofT 4 4 frw wew § wala o2

(A) e (B) germETaTe

(C) themmars (0) TG

AN & T ASYR B 87

(A) yarmg e (B) Wi, @y
s .

(©) fera == el - (0) Wgw. vy
- T -0 AR @ sl 9 R

answer by using the code given below - Y FT $T I X FEl IR EFFN =
List+1 . Y-
(A) Ngna Saheb (A) T |TEq
(B) Bahadur Shah Zafar Y (B) 98TER I8 WY -
(C) Lexmi Bai E (C) asft o _— ﬂ@
[n}rga Tope (D) dreaT e
List~ 11 T - 1
(i) KIT&d in Battle () 38 % "R mu/E
(i) Deported to Rangoon (ii) ¥ Fraif !
(iii) Captured and executed (iii) weme forar ok Wi & e Saw
(iv) Fled to Nepal (iv) ST HFT Y /7S,
Code - e —

(R) A-iii), B-(iv), C-{ii), D-(i)
(B) A-(ii), B-(i), C-{iii), D-{iv)
(C) A-(i), B-(ii), C-(iii), D-(iv)
(D) A-(iv), B-{(ii), C-(i), D-iii)

(A) A{i), B-(v), C{i), D-()
®) A-(ii), B-(i), C-iii), D-{iv)

. (C) A-(i), B-{ii), C-{iii), D-(iv)

@ A-(iv), B-{ii), C-(i), D-{iii)

oo



86. Shivratri cattle fair is held at -

87.

(A) Bharatpur (B) Jhalawar

(C) Karauli (D) Alwar

Which of the following (Local Deity - Main
Pilgrimage Site) is not correctly niafched?

(A) Tejaji - Parbatsar (Nagaur) %

(B) Devnarayan Ji - Asind (Bhilw

(C) Tallinath Ji - Katriyasar (Bika

86.

87.

gy T ¥ 1 ST BT € —

(A) ¥age o (B) s A

(C) wrel A (D) areray
iR (e e — o defere) § 9
Hr T I §7

(A) el — TRgaER ([ER)

(B) AR ot — amdfg (remrel)

JC) T o — paRan (@)

(D) Pabuji - Kolu Village (Phalodi)<F (D) TS — e T ()

88. Arrange the following districts q..{-!_}ajasthan in 88. oreer @ friferr forell 1 ST R gl o)
the correct order from North to Stuth - 21 air wd) A el & — E
(i) Sti Ganganagar (i) AR N
(ii) Jalore (i) TER W
(iii) Jodhpur o (ifl) TR+ ~
(iv) Bikaner de)] (iv) SIFFR
Code - PCE e —

(A) (i), (iv), (i), () (B (i), (i), (iv) (A) (i), (iv), i), () (B) (i), (i), (i), (iv)
(©) (i), (iv), (i), (i) (O (ii), [i%ii], (iv) (©) (i), (iv), (i), )y (@) (i), (1), (iid), (iv)

89. As per Koppen's Climatic ClaSsification, in 89. P @ WIearg avDRYl @ IR, I
which districts of Rajasthan ‘Steppe climate’ is & T forell # w0 werarg qTR AR €7
found? R I (A) TTER, ST &R “m.g..‘,

(A) Barmer, Jalore and Jodhpur (B) SR &R dHTR .
(B) Jaisalmer and Bikaner (C) TR &R EHIATE E
(C) Ganganagar and Hanumang (D) WOQR, & @R <P

(D) Jaipur, Dausa and Tonk ap)

80. With reference to the Indian freddgm struggle, 90 WIRTIA Fc=raT U™ & oot ¥, Frafeafes i
which one of the followinf=2is correct & A 7 uoARl B BFRN Blemd el
chronological order of the given events? -4 '

(A) Partition of Bengal - Lucknow-Pact - Surat (A) Gt @ Rt — s R —
split of Congress FI B G A

(B) Surat Split of Congress - Lucknow Pact - (B) it & §Xa Ao — dETs ST
partition of Bengal — gme 1 e .

(C) Partition of Bengal - Surat Spi, pf Congress (C) FTTet T IO — R & YR [T
- Lucknow Pact W — TS

(D) Surat Split of Congress - Part@n of Bengal (D) THE BT G RO — G BT T
- Lucknow Pact e — TS WG

91. \Which of the following pairs isgjbt correctly 91. Pr=fafed § @ @9 gm 98 JAfem el
matched? ' = 27
(A) Fuldol-Chaitra Krishna Pr‘atlpgz (A) GErea—a= T m%rtm‘:’

(B) Gangaur-Chaitra Shukla Tritiya (B) ToriR—a9 Yaw o v
(C) U: h{;,:ﬁathvﬂhadrapad Krishna Paksh (© E——
Shashthl
'{ID} Ghudla-Shravana Shukla Tritiya (D) ggar—5mae Yol m
EEDTE_-_F-_ Page 13 of 24
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92. The support price for Jatropha seed as declared
by Government of Rajasthan is -

(A) T 8.50 per kg (B) T3.50 per ke
(€) 311,00 per kg (0) X12.00 per kg
83. The highest point of the Meghalaya Plateau is -
(A) Jaintia Hills (B) Mikir Hills
(C) Shillong (B) Garo Hills

9. Vegetable Centre of Excellence has

been
established in Rajasthan in -

(A) Udaipyr (B) Kota
() Bundi (®) Jaipyr

%5. The outlines of Second Five Year pjan was
made by - |

(A) p.c. Mahalanobis

(B) V.KR.V. Rao
(C) C.N. . Vakil

(D) B.N. Gadgil

%. To promote gender equality and economic

empowerment of women, Government of

India had set Up India’s First Women's Bank
called ‘Bharatiya Mahila Bank - Limited’. |
which year it was launched?

"
(A) 1999 (B) 2012 . ﬁ
(C) 2017 (D) 2013

In the defence sectorin India, the foreign direct

n

97.

investment limit under the automatic route has
been increased to what percent?
(A) 74% (B) 49%

(C) 51% (D) 100%

98. In the reign of which ruler of Alwar,
Neemuchana incident took place?

(A) Maharaja Vijay  (B) Maharaja Jai Singh

Sing_h ,
(C) Maharaja Banne (D) Maharaja Fateh
Singh Singh

-

%Wmmmﬁmmm
T ey -

(A) 8.507 wfiy fpan (B) 3.507 ufy &
© 10002 oft 5. (©) 12,002 Ry R

9. #mmmmﬁaﬁqﬂm%-
(A) Sriferar werfeey () P e
(C) Ryeriy (©) TR i

94-W#ﬂﬁrmm$amﬁaﬁm

(A) Seamy ¥ (B) Brer 3
(€) gt % (D) Srrge 3
B. ol duadfa gy 29 TG e
TS T o
A) W30, wER (8 ABIRA, v

(C) Hiwm 9
96. -

(A} 1999 (B) 2012
(C} 2017 (D) 2013

97. mﬁm%ﬁmﬁawaﬁmm
T & <t 2y IR frm uftvem o= R
T §? !
(A) 743 (B) 499
(©) s1% (0} 100%

Hﬁ-waﬁ*ﬁiﬁma}mﬁwﬂ

131D 88

(A) TERTaT forory (B) weRraT v e
g
(€) MR 9y (D) werren woE FE
g
e~ AT |l -
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100.

101.

Which Pri'rn:talz.uF State of Rajasthan has given

- protection to Blue Pottery and especially by

which ruler?

(A) Jaipur, Sawai Pratap Singh

(B) Jaipur, Sawai Ram Singh Il

(C) Mewar, Mahaﬁna Fateh Siﬁgh

(D) Mewar, Maharana Sajjan Singh

Indian Railways has announced 3 partnership
with which IIT institute to develop the
indigenous hyperloop system recently?

(&) T Madras ~ (B) IIT Delhi

() T Indore (B} T Kharagpur

A single bus structure is primarily -found

in -
(A) Super computers

(B) Mini and micro computers

(€) High performance machines -

(D) Mainframes

102. Which of the following is not an antivirus

103.

104,

(D) Impact printers, Daisy

£ MBI S
- un. -
31D oo

software? :
(@) Fprot | (B) Mcafee
(C) NAV : (D) Fedora
Which of the following is a sound ﬁl.e
format?
(A) DRV files (B) LOG files
.. (D) DAT files

(C) WAV files
Which of the following is an invalid pair?

(A) page printers, Laser printers

(B) 132 column printers, Ink jet printers

(C) Line printers, Drum printers

wheel printers

99. Y @ Ruwa v R w7 @

PR WEE A & Ued B A
faar’

- (A) SIEqR, warg we g

100.

101.

(B) Sraqw, warg IWEE i

(C) Hars, wEwmT HoE fiE

(0) 13, W wowr Rig

AR Yerd A wrer 81 3 vy amd amd. &), T
@ Y Yool gy Riwen R e
(A) SIS T (B) ardard ) R

(€) A &R (D) A TR
TR SR W T 99 e wat o s
o7
(A) g Frgew
(B) firdt <l 7T Fraged E
(C) =7 TRwbiHw Wl =
- (D) HwH ' -
102 i 3 ¥ B W C-arRE ST T
14
(A) F-Prot (B) McAfee
(C) NAV (D) Fedora .
103. Preifeflea ¥ @ &9 @1 6 UNe wEd B
e _
(A) DRV BT5H (B) LOG FI5ed
©) wavSEe (D) DAT WiEe

104. fi ¥ % B T S I &2

(A) U fired, oo firedd
(B) 132 ®ieiH fired, go—uic iy

(C) wrew e, &0 foedd
(D) gHige ey, Soi-ae firesd

Page 15 of 34
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105, Consider the following statements in context of
M5-Word - 2019 document -
I: Hidden format symbols can be viewed by
pressing ‘Ctri+Shift+8’.
ll: A Line break can be inserted by pressing
‘Ctr-Enter’,
The valid statement(s) is [are -
(A) only 11 (B) Neither Inor ||
(C) Both land Il (D) Only |

106. With reference to Web 3.0, consider the
following statements -
(1) Web 3.0is based on block chain technology.
(2) Web 3.0 is Operated by intergovernmental
panel,
(3) Web 3.0 Technology enables people to
control their own data,
‘Which of the statements given above are

correct?
(A) 2and 3 (B) 1and3
(C) 1and 2 (D) 1,2and 3

197- Elephantiasis is caused by -
(A) Flatworms
(C) Filarial worms
108. What is ‘Vikram - §'7
(A) India’s first privately built rocket.
(B) Launch Vehicle Control Centre established
at NASA.
(C) Newly established Launch Vehicle Control
Center at Shri Harikota.
(D) Recently sent Indian satellite for weather
information. :
109. Cotton fiber obtained from cotton seed is a -
(A) Polypeptide (B) Polysaccharide
(C) Monosaccharide (D) Poly amino acid

10 Which of the following is an example of

chemical change? . _
(A) Dispersion of white light into the light of 7

colours when passed through a prism
(B) Dissolving of salt in water
© Softening of vegetable when cocked
(D) Wet soil lamp, when dried gets fragile

(B) Tapeworms
(D) Ascaris

"% wrn-ad — 2010 Swpic B wed & ey
T W AR w5 - ;
I @aﬁﬁaﬁﬁm‘rﬁaﬁmﬂ'
SAIER AW O Hepar 2|
Il: BEHIY TR @ T8 35w
BATAT AT el £ |
SR o & /8 -
(A) e 1| (B) 513K = & ot
(©) 1 T 1) Y (D) Fger |
m—ﬁn.n{uveha.ma%mﬁﬁﬁﬁrmmﬁiﬁw
W faar #iftm -
(1)%3.0%%%%@3!@%&
(@) 9 3.0 siv-wE Y zw Wefera
2l -
{a}ﬁas.nfraﬁﬂaaahﬁas‘fam#%aﬁﬁﬁﬁa
TV T A T #
SR U Y Bl A Py w5
(A) 2 3iw 3 - . (B)1 a3fv3
(€)1 3iw2 . D 1,23k3
107. vferbfeafin e pror g &7
AR B P
(C) wrgerfear iy (D) werfiny
108. “fazpm — vy’ 1 27
(A) s &1 wom fsf ffifg sz
(B) 7rer (TAuvwn) § -wifi wawnr um
P 3=

[Ciaﬂzﬂaﬂaﬁﬂﬂwﬁfﬁﬂnmwﬁraaw
g |
(D) AT &) ST & e @ W e T
IR e :
109. Uy & il 9 wrsr Uy BT 7 € v -
(A) dielierzs (B) tieiwvigs
(C) HEBvze (D) giefl udT st
0. frrforftag # & o wwrafe oeda &
BT _
(A) frow ¥ o W ang yeTE & 7 9 B
wETer § fasfi e
[ajwmqrﬁ‘;g;m e
(C) Ty T TR Ll
(D) “fieft i 7 o, T O AR & S
g—.

_-_-_-_-_'-__—____
131D 88
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111 Dwarf Planet Ceres is located between -
(A) Jupiter and Saturn (B) Saturn and Uranus
(C) Uranus and

(D) Jupiter and Mars
Neptune '

112. What is the approximate height of a
geostationary satellite from the surface of the

earth?
(A) 63000 km (B) 36000 km
(C) 42000 km (D) 6000 km

113. Which is the major cause of global warming?
(A) Re-radiation of |.R. rays by O; and N;
(B) Re-radiation of U.V. rays by 0, and N;
(C) Re-radiation | of LR. rays by CO; and
H.0 - '
(D) Re-radiation of U.V.
" H:0. -

rays by CO; and

4. The mnst curnrhonl',r used chemical for artificial

ralnmg or :luud seedlng are -

1)

(A) putassrum nitrate (B) ferrous sulphate

(C) silver iodide (D) copper sulphate

115 Which of the following contains Lauric acid,
which is used to treat certain infections and is

also used in the manufacturing of soaps and

moisturising creams?

(A) Butter (8) Olive Oil

(C) Coconut Oil (D) Mustard il

116. The sum of the perimeters of an. equilateral
triangle and a rectangle is 90 cm. The area T, of
the triangle and the area R, of the rectangle
both in square cm, satisfy the relation R = T If
the sides of the rectangle are in the ratio 1: 3,
then the length ‘of the longer side of the

1. Frr o8, 9 e weg Rem 27

(A) Tewafy @ik R (B) wify 3R areeT
(©) e A THw (D) g‘ﬁ'ﬂﬁt aR

12, gody &) waE | 94— ﬁmmaﬂﬁﬁim
el Bl 87
(A) 63000 B, (B) 36000 5.
(C) 42000 fa.30. (D) 6000 fo AT,

13 fpfaiRea & & o w1 @A 9

(pvsei @Iu) B Yo SR 87

(A) ag. 3R, famoll &1 0, N2 ERT g: fafdsor

fglﬂﬁ.ﬁfiﬁﬁﬂzﬁﬂzﬁmﬁﬁﬁﬂm

(C) ang.3iR. favuil T €O, 38R H.0 BRI U
fafeseor -

(D) g, fdxell &1 cop 3R H.0 BRI O
fafeor

aféfsfige 3 (@fm ) ek Femss |

ﬁrﬁmzﬁmmmmmm

el FEEH § =

114.

{E}tﬁw Tehe

(A) uRefRrm wsge
(C) frex amdterze (D) FiR wothe
15. freferfies § @ freit ©iRe ofie or &

forer v 7o Swavl @ A @ fog
% ft frar S &7

(A) T (B) S @t e

(©) RTe T (D) Wl &7 A
TS WHATg e vd uw s @ aREm @
AT 90 WA, ¥ | Bret H1 i T wr ST
®T 85%d R (@91 @ ¥4 ) v R=T2
aﬁﬂ‘-gg o 8| Ak smaa @ qomsit @
gﬁmﬁlzat‘cﬁmﬁﬂﬁﬁﬁﬁuﬁnﬂﬂm

116.

rectangle, is - - (A) 9y, (B) 27 A
(A) 9cm (8 27 em ©) 67 (D) 21 FA
(C) 6em (D) 21 cm
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7. |n a certain code language, if “SOUND” is j W & |I|§EIEI ®E WM if

R SOUND” g
written as "ABCSD", “MINERAL" is written as "ABCSD”  fomar W g, “MINERAL" H |
“QRSTUVW”, then in the same code language, % "QRSTUVW” fregy AT §, o Y T2 Wy #
“READER” will be written as - o “READER” &) ferar T —
(A) UTVDTU (B) apzcpq pN-.. (A) utvbTy (B) Qozcpq
(©) TubvuT (D) SFBEFS g (©) TupvyT (D) sFaers |
8. Here, two statements  followed by two

b 113-@’,3%@%%%3#%@"%3
conclusions Numbered | angd are given. Yoy «—
have to take the Biven state

B! B ot 0y g N ey Ay |
ments to be true, g, rafes
even if they ‘seem to pe

]
at variance from €\ & W ) e W WP v 8|
commonly known facts, Reag the m:-nclusionsfc'% Frenel 3y R fim Ry s 5 fay

Athen dec P 3 e,/ o 2 Pt s oy
logically follows from the Biven two €Y

statements, 3 aﬁf i %1 TR T ¥

Statement: All doctors are good. S_} BT W SR e g E
Some women are doctors. Y A Shaes €

Conclusion : (1) all Bood doctors are women, gy e . [llﬂﬁr-m-fmﬁ{ ey # I3~
(1) Some women are goog. c‘% () B Afeemri sy I

(A) If only conclusion | follows . f"‘q A) a1} Baet Fed | SRR vy &

(8) If only conclusion Iy follows 5\3 AR e Faet P STERT FEr B

(©) If both conclusions | and I follow cvf;

R L e ——

lﬂimqﬁM@nmmﬁ%‘

N e
| become ¢y 119. ey ot %, 80,000 10% wrfife e T R

(D) If neither conclusion | nor Il follows

19 In how many years 80,000 wil

92,610 at 10% per

annum interestgl_j sefarfs 3 92,610% & TR
compounded half yearly? N Ils
S Wy (B) 17
(A) 1Y% years (B) 1 year = i .
(C) 2 years (D) 3 years E 2 (D) 3 o | .
0- Ratio between present age of Sudhir and T 120. R o wom 99 T Ry w57 ST 4:5
Sanjayis 4:5. After 5 years, ratio between thair €| U af g2 T a1y U 5:6 B }l
ages will become 5 : 6. Present age of Sudhir is- T | R oy ERLIE Y & — |
() 25 years (B) 18 years (A) 25 a4 (B) 18 =
() 20 years (D) 24 years (©) 20 o (D) 24
1

* The average of 7 numbers is 39 and theaverage  121. 7 wivara @1 39T 30 2 aj & 3 3 e

of 3 of them is 27. The average of other 4 @l 27 2| 7 B8 4 wERli @ g
Numbers is equal to -

TR & —
(A) 48 (B) 52 ' (A) a8 (B) 52
(C) 44 (D) 40 (C) 44 (D) 40
_-_-__'———-—.______
D 88
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122. .
Respective water and mirror image of the 122. freg oy @ ot o qdor A wRR :
following figure is - ' 5

(g |
w
o
.
* o
(C)

and 3
o
> i _' .F
™
w
o)

~ .

123. A cube is coloured red on all the faces. It is cug 123, g o+ @ W) Gl B one S W W0 O

¥ 3 WM AR F 125 B’ i § Fe
e &) fhe T A daw tw waE o g

into 125 smaller cubes of equal size. How man%

cubes are coloured on one face only? N 7
(A) 48 (8) 60 o (Wag ®e  FE
©) 36 (D) 54 B  ©36 () 54

124. A two-digit number is such that the product qR 124. 15 Q1-oim] @1 & TH YEN & & 3o s
its digits is 12. If 36 is added to the giue@ o1 o 12 &1 TR 7 e 36
number, then digits of given number” . _ et
interchange their places. The given number i W R, A D O W @ I O I

: : TR 98d od € | € T 6 W § —

equal to -
(A) 62 - (B134 o Me (B) 34
(C) 26 (D) 43 g__‘) JI©) 26 (D) 43

125. 7ft <R fewm, WR R @ W &
se-yd fRrem, uftem Rean a1 oiwh # sl 3@

125. |f South-East direction becomes North, Ncﬁrecsl

East direction becomes West and so on. Whaﬁ _

will South direction become? ' i e

(A) North-East (B) North (A) FER—qd (B) 9w

(C) North-West ° (D) South-West . AC) STr-uf¥am (D) =Ry—ufyam
oo Page 19 of 24
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126. Find the missing number —

12 A I\r /! ﬁYH
\\:E/ 207 ?

(A) 4564
(C) 525

(B) 334

(D) 184

127. A class of boys is standing in only one row. A

boy is at thirty third position from both the

ends in this sequence. How many boys are
there in the class?

(A) 64
(C) ga

(B) g5
(D) 66

How many triangles are there in the following
figure?

128,

(D) 12

129. The next term of the following-number series
is- g
975, 864, 753, 642, ?
(A) 532

_{f;l 531

(B) 541

(D) 431

130. In a family of seven people. Scientist is married
to a Teacher and has three sons, one Engineer,
one Doctor and one Actor, The Actor’s wife is a
Dancer and aunt of Sarita. Sarita, the daughter
of Engineer learns Science with his brother
Mahesh. How is Dactor related to Mahesh?
(A) son (B) Grand Father
(C) Brother (D) Paternal Uncle

S
¥ 5
126. Srgmer e s A — N,
gt Iy? 25 2:'
\/E . Y{i.__
80 207 ? *%
(A) 264 (B) 334 %
i
(©) 525 (D) 184 -
1ﬂ-mﬁraﬁwwwﬁqﬁaﬁm.ﬁai T
P i U5 wed 2R AR W Sy W 0y
&1 T F e wed #2 _ 3
(B) 64 AB) 65 2,
€ es (D) 66 \f’
TEE:ﬂ%mwﬁa#Wﬁaﬁﬁ?
/"

975, 864, 753, 642, ?
(4) 53 B o
(B) 541 5%
(C) 531 (D »
I ) 431 "'E'i%f

‘m.?mﬁaﬁzﬁwq&mﬁ.ﬁwﬁmmm?ﬁﬁ

w e ¥ g R A T w
TNER, UF Sfaex awr e afear 2 [
SFVET @t ool weer & qor wRear 4 ard L
&) WRe, o @ gt oy g e B L
I fasm gl 8 ) Sfaey &1 929 § QY a9 o

TRy &7 a;jl
B
(M) g (B) Tran —_
(C) i 7(0) == __1.}5;‘
5

131D 80
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131. e — e @ gfte & s fme 9Fe -
(A) =egsrar — qg o wegel § qwar gl (B
(©) Frof — W W W @ a2 (D}W—Iﬁmﬂml

132, fre # @ Ry wed w1 WP a7 ‘b
(A) wifawes = wifa + Wb {Bla&f‘w=€ﬁ+m' Mo
o) arEtor = 3 + T {D}wﬂmﬁ=w+#ﬁﬁ

133 frey @ o @ raford v @ R T &2

(A) Eﬁ‘ﬁ;ﬁ'ﬁﬂﬁmﬂ?@fﬁrmﬂgﬁﬁﬁm
(B) T3 WARIE T TR E AT

el — a8 R 9G¥ WS 2

ST ARy |

134. g faeed gAY — :
(A) gn*rﬁmﬁﬁ—m'mqﬁw'mﬁﬂwa%l E
'(B}&ﬁﬁjm—ﬂﬁ'qanq'ewﬂﬁwmﬁl -
(©) el — 21 swwr W P = 2l
(D) ma-'al‘qa‘ﬂﬁ!'aﬂwﬁﬂww%!'

135. g T B Qe &1 T Y

(A) goTE, sefie ufémmo, Page, (B) Sers, L, wwaferd, T
(©) vk, Frat, Freand, Frocs (0) e, P, sifiveaT, siretaa
136, <o YaF B FEG a1 B | TR AR F WD T i B8 FRE 87
(A) waf TRF (B) FHA PG -
(€) T TRE (D) T BRB ey :
13?-%%%@@?%#@%%— £ ﬁ
(A) & A & 5T 9T B) e & d PrTeT -.t-'! 2 /
(©) =Wl Wiy W T A WY " (D) q STo—ST, d Y- 4 £
; 13B-Cnntempt$i%ﬁﬂﬂﬂﬂqmﬁ?ﬁwm— , i | /‘E‘ : \1!
: (A) amerd | (B) iqﬁﬁj—;{ % - t&. 7
(C) =i (D) AT PRl
139. sl e WITFT-T B — : @
(A) Hifem—amenias, sE-—yax | B .
(©) Horedi—FIeIT, T “.;:n: E:E MR T bl “
140, oy P UAEAE TE § . ppoiod- e oy ‘il 4
| W
(C) |1 _ | (D) wua 1
131D 56 Page 21 of 24 s \I
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extensively used.
141.

wer the following questions =

pite the prolife
to flourish in India. .
prupagating reforms by

highlighting social, economic and political issues present in the society Unlike in the olden days, its

Direction (141 to 143) : Read the passage carefully and ans
: ration of moder,

Street theatre in India is a well established ancient art form. Des
means of entertainment and communication, street theatre continues

Street theatre as a channel of communication has for centuries been

Today small groups of

performance is no longer restricted to villages or small localities of the city.
¢ opinion or to help

performers including students, would stage performances to mobilizé publi

create or raise awareness over a particular issue of public importance: Themes
e areas highlighted by cont
props and images. The

and slogans are

on substance abuse,

AIDS awareness and domestic violence are some of th emporary street

theatre troupe. Unlike in regular drama street drama employ Very little

human body becomes the main tool in which choreography, mime, dialogues, SONES

In the olden days, street theatre...............to villages or small localities of the city.

(A) was entertained (B) was restricted

(C) was not restricted (D) was opened

142. Which of the following word in the passage is thg.oppos-ite of ‘stabilization’?

143. Which of the fulluwmg word in the passage means ‘regardless’?

144, ChDﬂE:E the correct option -

P
a

145. Fill in the correct article =

(A) ancient A (B) propagating

(C) established (D) reform

1

(A) mobilize (B) restricted _

(D) despite

(C) contemporary
f ,

The interviewer asked me my name. ( Change into Passive Voice)

(A) The intérviewer had been asked my name by me.

!ﬁ} | had been asked my name by the interviewer. i

(C) |have been asked my name by the interviewer.

(D) Lwas asked my name by the interviewer.

7)ot sugaris good for our health.
(A) An (B) No article
#(C) A (D) The
Page 22 of 24 R —



i ance’.
146. Give one word substitute for = ‘gree from disturb

(B) Agitated <
(A) Tranquil Ag

(D) violent
(C) Chaotic !

i diom -
147. Choose the meaning of the underlined phrasf! ori

she played ducks and drakes with her ""ar.'?.?'
(A) lent

(C) borrowed

S -
(B) did not_spead
(D) spent lavishly
listed in Column

i i itions
148. fpatch the sentences with blank spaces in Column (a) with the preposition

to frame correct sentences - - '
" e column (B)

Column (A -
] {Prepasitlonsl
(Sentences)

.oveher friend for her help. . (a) on
(b) with

(i) She is grateful ...
(i) | have got @ MEetiNguwwrrmmrerresi Thursday afternoon. |
- (iil) | am not CAIST IO, sonvesressrssasesrpmsaseaneses yo'yrexpiaﬂatiufl. (c) for
(iv) This car PS—— | R 4 Ll Keeri to buy it. (d) to
(&) (i)-d, (ii)-c, (iii}-b, (iv)-2 (®) ‘_.[i]-d, (ii)-a, [iii}:h, (iw)-€
(©) (i)-b, fi)-c, (ii)-d, (iv)-a © (i)-a, {ii}-c, Giii)-d, (iv)-b
149. Choose the correct form of the verb/tense to complete thé sen Eﬁénc_e Frqm the given apti'nns .

F3
“The r.hddfur the last one hour.”

(A) is sleeping (B) was sleeping " ' L
(C) has been sleeping (D) slept

150. pick up the correct answer from the given options'- =T
John said, “I waited for Lisa till 10 O'clock”, {C.hange into Indifect Speech)- '
() John said that he had been waiting for Lisa till 10 O’clock.
(B) John told me that | had waited for Lisa till 10 O'clock. |
(C) John told me that he waited for Lisa till 10 O'clock.

(D) John said that he had waited for Lisa till 10 O’clock

131D oo
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